
Indirect method Errors Direct method 

Simple Gaussian method
Gaussian by partial pivoting

Crout's method Doolittles's method

LU - Decomposition

Write:

        A=IA

Smaller r  is better 

If K(A) is close to 1 (Well condition)


If K(A) >>1 (ill condition)


Jacobi method Gauss Seidel method

Solve

 Ly=b

At partial pivoting arrangement descending

Solve

 Ly=b

Before changing any value of A 

move it to I

After m32

Solve

 Ux=y

After m21 and m31

        L                              U

Make sure that diagonal of U is ones  

Solve

 Ux=y

Smaller ||T|| is faster to converge 

Error bound

That’s how norm working

Matrix form of Jacobi 

Smaller ||T|| is faster to converge 

Error bound

Write:

Matrix form of Gauss Seidel 




